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07:30 PM to 09:30 PM
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03:00 PM to 05:00 PM
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01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
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23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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15,

16, 30, 93, ?, 1845

A.372
B.370
C.358
D.368
E.362




24, 46, 90, 178, 354, ?

A.704
B.714
C.716
D.710
E.706




28, 30, 33, 38, 45, ?

A.54
B.58
C.52
D.56
E.62




60, 61, 57, 66, 50, ?

A.85
B.65
C.75
D.95
E.125




30, 59, 117, 233, 465, ?

A.876
B.893
C.915
D.904
E.929




3
(\/1331) ~11+95 x100=72

A.9000
B.9500
C.9501
D.9401
E.9400




2500 +~ 12350 x 2500 + 999 = ?

A.69999
B.59999
C.6999
D.7999
E.NOT




56 x15+3-83=?-139

A.314
B.334
C.316
D.336
E.NOT




(15 x5 XxT7)=25+84]|+T7=7?

A.16
B.21
C.35
D.15
E.7




1203 x4 +3 + 396 - 200 ="?

A.1700
B.1800
C.2100
D.1900
E.2000




(700 + 800 — 1300 +800 ) ~? =200

A.5
B.4
C.3
D.6
E.7




13°+ 11 - 144 x 0.5+ 625 =2

A.843
B.7/86
C.733
D.696
E.953




(121 + 7% of 300 — 8 x 4) =~ 10 = ?

A.10
B.11
C.12
D.8
E.9




(3/4) of (5/7) of (7/3) of 1228 = ? + (39)°

A.24
B.15
C.1/
D.21
E.19




25% o1 360 + 125 +-25-70=7?

A.35
B.40
C.25
D.20
E.50




Direction: Read the following table carefully and answer the questions
that follows (data is given in percentage)

fgar: ﬁl‘d—‘ﬁﬂ@d difelhT &l CATIydeh Ufer IR fAFafei@da
qﬁ%waﬁv(amrﬁuﬁwaﬁawé%)

Category Boys Girls
Drama 40% 55%
NSS 15% 25%
Sports 45% 20%
Total 25000 28000




The number of girls in the NSS team is approximately how much percent more than the
number of boys in the NSS team?

TATHUH S0 H TS hAT shi HEAT, TITATH W H Tgeh! chl HEAT | T fehaw afaora
ATErH B2

A.81%

Category Boys Girls X B.78%
0 0

Sports 45% 20% D.92%

Total 25000 28000 E.877%




What is the average number of boys and girls in the Drama team?

STHT 210 | AASehi 3T TSRl chi TTHd H&AT T 82

A.11800

Category Boys Girls B. 12300
Sports 45% 20% D.11500
Total 25000 28000 E.13100




What is the ratio between the number of students in Drama and sports team?

ATeeh 3R @S S § BTAT 1 HTAT o Sl T SFTUTT T 872

Category Boys Girls
Drama 40% 55%
NSS 15% 25%
Sports 45% 20%
Total 25000 28000

A.511:327
B.519:37/3
C.508 : 337/
D.518: 341
E.521:319



What is the difference between the girls in Sports team and boys in the same team?

T IR H SRt 3R Ueh &t €10 H eTgehl o st ohT Al 32

Category Boys Girls
Drama 40% 55%
NSS 15% 25%
Sports 45% 20%
Total 25000 28000

A.5450
B.5750
C.5850
D.5650
E.5350




Approximately, the number of students in the NSS team is what percent of the total
number of students in three teams?

TAUHUH SH H BTAT shl HEAT 1 ST H STAT chl Shet HEAT ST TehaT JT9rd 82

A.21%

Category Boys Girls 3 B.24%
(0] (o)

Sports 45% 20% D.31%

Total 25000 28000 E.18%




Direction: Read the following data
carefully and answer the following
guestions:

In a school, the difference between
the number of Girls and Boys
students is 40000 and the ratio
between the number of boys and
girls students is 9: 11. The number
of boys students who choose
Computer is 50% less than the
number of boys students who
choose Maths. The ratio between
the number of students who choose
Maths and Computer is 21: 109.

fAca: T 3mdsl @l
CITAqdh gfew 3R
Aeafef@a ot &1 3
AL

Uh THo H, orsfeal 3ﬂT
JISchl hT JEAT &I
40000 & 3R c‘»lg-cﬁr 31‘1?
Jdsfhal & F&IT & FALY
P AU 9 ;1

P A dTel AShl I
&g, 0T gedd  dTel
oISl hT FE&IT H JolaT A
50% @A Tl 0T 3R
PR FAS dTel BTAT A
AEAT & AT PT HJUTd 21

:19%—|




Direction: Read the following
data carefully and answer the
following questions:

In a school, the difference
between the number of Girls
and Boys students is 40000 and
the ratio between the number
of boys and girls students is 9:
11. The number of boys
students who choose Computer
is 50% less than the number of
boys students who choose
Maths. The ratio between the
number of students who choose
Maths and Computer is 21: 19.




Find the difference between the number of girls students who choose Computer and Maths
subject ?

SHEIEY R TUTA T T ATt ST hl HEAT & o<l o1 A [T hitad?

We10/0]0

Total Computer E=m)
- =2 B.4000
e £.2000
S 3500
E.3500




Find the average number of girls and boys students who choose Computer subject ?

HT Fea T AT eTSfehdl 3R Tgehi oh BTAT hl ST HEAT AT hlTST?

I el

A.8500
B.10500
C.11500
D.7500
E.9500




Find the number of Girls students who choose Maths subject is approximately what
percent of the total number of students who choose Maths subject?

ot forer A ATt eTgioRa sht EREaT, TUTA e A Tet BT hi Shel TEAT ShT AT
feramT Tferora &2

A.38%

Total Computer E=m)
B.43%
M Ml CaL
T I a8,
E.48%




Find the number of girls students who choose Computer is approximately what percent

less than the total number of girls students?

SHTET T ATAT BTATAT sl TG, TTfehal hl THet ST A T foha TfdeTa s 32

A.35%

B.38%

R 32
o - 5%
E.45%




Find the ratio between the number of girls students who choose Maths and number of

Boys students who choose Computer ?
THOTd T STeAt TSR Shi HEAT SR HTIEY YA AT TTgehi hl HEAT o Sl ST AT ATd
hTT?

Total Computer Zay)  Al:3

Y/ B.2:3

Il sl sl C2:1
D.3:2

E.1:4



S wants to purchase a farm with all its animals, in which there are buffaloes and hens.
When he counted the heads they were 160 heads, while the legs were 560. Find the number
hens in the farm?

S U AT AT ok VY Teh Tl TIEEHAT =T8T 2, Tored 3 iR gRtat g1 9 i &) <At
Rt skt a1 37ek TR 160 o1, Sratfer 4T 560 21 Td | R ht HEAT AT hiTa?

\//_:'\j A.45
/\oi"'j// 0y B . 3 2
C.30
D.40

E.NOT



In the mixture, the ratio of the alcohol and water is 6 : 5. When 22 liter mixture are

replaced by water, the ratio becomes 9 : 13. Find the quantity of water after replacement ?

THroToT o, STeehiaet SR UTHT ST STUTT 6: 5 81 T 22 WX THUT 1 Ut | I5eT 44T STaT 8,
AT STTATA 9: 13 BT SATAT 5| TTTEATI o ST UTHT /Y HIAT AT hlfoTa?

(87 e,

> o
o N A~
[ —l '—'
« |— ' o
\ i
\\ w1
N R 2 4

A.52
B.50
C.54
D.48

E.NOT

iter
iter
iter
iter




A number is first increased by 30% and then decreased by 25%. The new number obtaine
is what percentage less than or greater than the original number?

Tk HEAT Tl TEeT 30% TGTAT ATAT § 3R T 25% =TT ATt 31 A6 hi T3 75 €&, I
AT © foha = TTc9Ta A 3T SATerh 82

(770N

e ;"@\b A.4.5% increase
B.2.5% increase
C.2.5% decrease
D.4.5% decrease
E.3% increase



What is the difference between the compound interest compounded annually and half

yearly on 10,000rs for a year at 10% per annum?

10,000 TUX TR ek Y o TeTT 10% Tl 9 shT A ATk IR TR T H AT Tshelleg

SATST ok Sl T 3T HIT 22

(87 e,

A.Rs. 30
B.Rs. 25
C.Rs. 60
D.Rs. 50
E.Rs. 18



A train 300 m long passes a pole in 15 seconds and crosses another train of the same length
traveling in the opposite direction in 8 seconds. Calculate the speed of the other train in

km/h ?

300 HieT T Ueh ¢ Ueh T &l 15 Uehg W IR hid! § 1 foudia fom o ams o avet o
iaTS 1 GE ¢ <hl 8 Tehs H IR ehidt | ORI < okl i fehtfl/eiet § AT shitora?

i
\ _._I

- > A.200 km/h
B.198 km/h
C.190 km/h
D.222 km/h
E.NOT



A bought 900 metre of cloth rope at 2rs per metre, he sold one-third part at the profit of
10%, at what profit percentage he sold remaining as to profit 20% on the whole transactio

A T 900 HieX U kY T i 2 TUA Tfer H1eX il A @i, 364 Uk faegts R8T 10% o o
TR A 13T, I O G WX 20% TTH o €U H I i fehdd ATH TFd9Td W a<1?

A.20%
B.25%
C.30%
D.40%
E.NOT







